



Module 11.1 -- Exercise 2 



Validation of a Training Module





		In this exercise, we will work through a case in which all the data is supplied.  This data comes from Part 1 of the CODEVTEL workshop, begin the results of the first validation attempt for Module 1.3.



		On the following pages you will find:



1.	(Page 2)  The results of the Mastery Test (Ex.1.3.1) with the experimental trainee group.  This test has been validated and the results are shown on a Form 22.



2.	(Page 3)  The results of the Progress Test (Q.1.3.1) with the same group.  The results are shown on a Form 22; and the test had not been validated.



3.	(Page 3)  On the bottom of this Form 22 are also the results of the Pretest with another control group from the same population.  This second group of trainees had not received the training of module 1.3.



			N.B.  Both tests have since been revised...!





		Applying the procedure for validation described in the TDG/Phase 11, paragraph 6, work through this exercise.







Question 1:  Do the test scores meet the criteria for validation?



(a)	90/90 for Mastery?



(b)	80/80 for the Progress Test?



(c)	80/20 for the Pretest?



(d)	What about the Gain?
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Answer to Question 1:



1.	On the Mastery Test (Page 2), only 1 out of 20 trainees achieved the 90% criterion.  At this point, we may consider the module to be invalid;



2.	On the Progress Test (Page 3), 10 out of 20 trainees scored 80% or more, totalling a percentage of max of 50%;



3.	The mean score on the Pretest is 27% (given), which exceeds the criterion of 80/20 shown in the TDG;



4.	The mean Gain, however, is 50%, which meets the other criterion for pre- to post-test results.





		The next step in the validation here is to check the entry level of the trainees.  We do this*, and discover that the trainees 16 and 17 do not meet the entry level and will therefore not be considered as part of the population for validation purposes.









Question 2:  Is this module valid for the target population?



		Re-examine the data on page 3 and try to answer this question before comparing your answer with the one given on page 5.





			90/90 on the Mastery Test?





			80/80 on the Progress Test?

























*   by means of checking the registration forms which have not been annexed to this exercise









Answer to Question 2:



		No.



		After removing the scores of trainees 16 and 17, the results are still below criterion level, i.e.:  



--	Progress Test (Page 2):  10/18, which means that 55% of the trainees score 80% or better;



--	Mastery Test (Page 3):  1/18 which means that 6% score 90% or better.







		Now, before checking the failures, let us check the validity of the Progress Test.

















Question 3:  Are all the items on the Progress Test valid?



		Calculate and enter on a Form 21:  the Pu, Pi and D for each question, using the data on Page 3.  You may also refer to the discrimination triangle in the TDG.  When you have completed, compare your answer with the one given on Page 10.
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Answer to Question 3:



		Question 7 is obviously not valid, and must be reworked or discarded.  (D = 15).













Question 4:  Does the Progress Test now meet the validation criteria?



		Adjust Form 22 for the Progress Test, omitting both the results for trainees 16 and 17 as well as the results of question 7.  Compare your results with those on Page 8.
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Result�No. correct�% Pu correct�Mean Result�No. correct�% Pi correct�D���1�2�3�4�5�6�7�8�9�10�������������1�10�10��100�3.3��33�95���2�10�9��90�1.3��13�91���3�10�7.6��76�4.7��47�47���4�10�7.5��75�2.4��24�72���5�10�8��80�4.3��43�60���6�10�6.7��67�0��0�96���7�10�6.1��61�4.8��48�15�discard��8�10�6.7��67�0.8��8�83�����������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
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Answer to Question 4:



		Having adjusted the scores for the Progress Test (target population and test question validity), we find that the result is now 12/18 which means 76% receiving 80% or better (76/80).  It's better than when we started out, but not valid yet.  The Mastery Test scores still do not validate the module, so we have to examine the module itself.  Look at Figure 11.3 in the TDG/Phase 22, page 11 to help you define the causes of this failure and what actions should be considered to improve the module.  



		You would also look at the results of questionnaires given to the trainees during the validation trial.  Their comments are extremely valuable, usually identifying such weaknesses as:  



	--  unclear instructions

	--  not clear how the exercise or test was to be completed

	--  content was too difficult

	--  not enough practice

	--  etc.





Conclusion:



		The module must be revised (and it was...).



Validation of a Module
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